
Exercice - Produit d’un nombre décimal et un nombre entier

Calculer: 

1,783 x 6 9,548 x 4 8,632 x 9 90,56 x 8
1 , 7 8 3 9 , 5 4 8 8 , 6 3 2 9 0 , 5 6

x 6 x 4 x 9 x 8

= .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. ..

424,7 x 6 607,7 x 3 519,5 x 2 224,8 x 9
4 2 4 , 7 6 0 7 , 7 5 1 9 , 5 2 2 4 , 8

x 6 x 3 x 2 x 9

= .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. ..

4,992 x 6 91,57 x 4 86,68 x 2 13,76 x 9
4 , 9 9 2 9 1 , 5 7 8 6 , 6 8 1 3 , 7 6

x 6 x 4 x 2 x 9

= .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. ..

430,6 x 8 339,7 x 7 610,9 x 8 20,52 x 2
4 3 0 , 6 3 3 9 , 7 6 1 0 , 9 2 0 , 5 2

x 8 x 7 x 8 x 2

= .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. .. = .. .. .. ..

18,89 x 8 7,834 x 7 794,9 x 7 21,58 x 6
1 8 , 8 9 7 , 8 3 4 7 9 4 , 9 2 1 , 5 8

x 8 x 7 x 7 x 6

= .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. ..

22,6 x 4 150,6 x 6 88,95 x 7 2,82 x 3
2 2 , 6 1 5 0 , 6 8 8 , 9 5 2 , 8 2

x 4 x 6 x 7 x 3

= .. .. .. = .. .. .. .. = .. .. .. .. .. = .. .. ..
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Correction - Produit d’un nombre décimal et un nombre entier

Calculer: 

1,783 x 6 9,548 x 4 8,632 x 9 90,56 x 8
1 , 7 8 3 9 , 5 4 8 8 , 6 3 2 9 0 , 5 6

x 6 x 4 x 9 x 8

= 1 0 , 6 9 8 = 3 8 , 1 9 2 = 7 7 , 6 8 8 = 7 2 4 , 4 8

424,7 x 6 607,7 x 3 519,5 x 2 224,8 x 9
4 2 4 , 7 6 0 7 , 7 5 1 9 , 5 2 2 4 , 8

x 6 x 3 x 2 x 9

= 2 5 4 8 , 2 = 1 8 2 3 , 1 = 1 0 3 9 , 0 = 2 0 2 3 , 2

4,992 x 6 91,57 x 4 86,68 x 2 13,76 x 9
4 , 9 9 2 9 1 , 5 7 8 6 , 6 8 1 3 , 7 6

x 6 x 4 x 2 x 9

= 2 9 , 9 5 2 = 3 6 6 , 2 8 = 1 7 3 , 3 6 = 1 2 3 , 8 4

430,6 x 8 339,7 x 7 610,9 x 8 20,52 x 2
4 3 0 , 6 3 3 9 , 7 6 1 0 , 9 2 0 , 5 2

x 8 x 7 x 8 x 2

= 3 4 4 4 , 8 = 2 3 7 7 , 9 = 4 8 8 7 , 2 = 4 1 , 0 4

18,89 x 8 7,834 x 7 794,9 x 7 21,58 x 6
1 8 , 8 9 7 , 8 3 4 7 9 4 , 9 2 1 , 5 8

x 8 x 7 x 7 x 6

= 1 5 1 , 1 2 = 5 4 , 8 3 8 = 5 5 6 4 , 3 = 1 2 9 , 4 8

22,6 x 4 150,6 x 6 88,95 x 7 2,82 x 3
2 2 , 6 1 5 0 , 6 8 8 , 9 5 2 , 8 2

x 4 x 6 x 7 x 3

= 9 0 , 4 = 9 0 3 , 6 = 6 2 2 , 6 5 = 8 , 4 6
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